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Addition Cards—colour coded for different strategies: 
 

Adding 1 

 

Adding 0 

 

Adding 2 to even numbers 

 

Adding 2 to odd numbers 

 

Number bonds to ten                   Near number bonds                                       

 

Doubles 

 

Near doubles 

 

Number in the middle 

 

Bridging ten (Making a ten) 

 

Adding 10 

 

Compensating for adding 9 

  

 

 0 + 3 = 
 1 + 7 = 

Number Fluency 
Project 

 2 + 4 = 

 2 + 3 = 
 6 + 6 = 

 6 + 5 = 

 6 + 8 = 
 8 + 5 = 

 7 + 10 = 
 4 + 9 = 

 3 + 7 = 6 + 3 = 



2 

2 

 1 + 1 = 

 1 + 2 = 

 1 + 3 = 

 1 + 4 = 

 1 + 5 = 



3 

3 

 1 + 6 = 

 1 + 7 = 

 1 + 8 = 

 1 + 9 = 

 1 + 10 = 



4 

4 

 3 + 1 = 

 4 + 1 = 

 5 + 1 = 

 2 + 1 = 

 6 + 1 = 



5 

5 

 7 + 1 = 

 8 + 1 = 

 9 + 1 = 

 10 + 1 = 

 0 + 0 = 



6 

6 

 0 + 1 = 

 0 + 2 = 

 0 + 3 = 

 0 + 4 = 

 0 + 5 = 



7 

7 

 0 + 6 = 

 0 + 7 = 

 0 + 8 = 

 0 + 9 = 

 0 + 10 = 



8 

8 

 1 + 0 = 

 2 + 0 = 

 3 + 0 = 

 4 + 0 = 

 5 + 0 = 



9 

9 

 6 + 0 = 

 7 + 0 = 

 8 + 0 = 

 9 + 0 = 

 10 + 0 = 



10 

10 

 2 + 2 = 

 2 + 4 = 

 2 + 6 = 

 2 + 8 = 

 4 + 2 = 



11 

11 

 2 + 5 = 

 2 + 3 = 

 6 + 2 = 

 2 + 7 = 

 2 + 9 = 



12 

12 

 3 + 2 = 

 5 + 2 = 

 7 + 2 = 

 9 + 2 = 



13 

13 

 3 + 7 = 

 4 + 6 = 

 6 + 4 = 

 7 + 3 = 

 8 + 2 = 



14 

14 

 1 + 1 = 

 2 + 2 = 

 6 + 3 = 

 3 + 6 = 



15 

15 

 3 + 3 = 

 4 + 4 = 

 5 + 5 = 

 6 + 6 = 

 7 + 7 = 



16 

16 

 8 + 8 = 

 9 + 9 = 

 10 + 10 = 

 4 + 3 = 

 3 + 4 = 



17 

17 

 5 + 4 = 

 4 + 5 = 

 5 + 6 = 

 6 + 5 = 

 7 + 6 = 



18 

18 

 6 + 7 = 

 8 + 7 = 

 7 + 8 = 

 9 + 8 = 

 8 + 9 = 



19 

19 

 9 + 3 = 

 9 + 4 = 

 9 + 5 = 

 9 + 6 = 

 9 + 7 = 



20 

20 

 3 + 9 = 

 4 + 9 = 

 5 + 9 = 

 6 + 9 = 

 7 + 9 = 



21 

21 

 2 + 10 = 

 3 + 10 = 

 4 + 10 = 

 5 + 10 = 

 6 + 10 = 



22 

22 

 7 + 10 = 

 8 + 10 = 

 9 + 10 = 

 10 + 2 = 

 10 + 3 = 



23 

23 

 10 + 4 = 

 10 + 5 = 

 10 + 6 = 

 10 + 7 = 

 10 + 8 = 



24 

24 

 10 + 9 = 

 8 + 3 = 

 7 + 4 = 

 8 + 4 = 

 8 + 5 = 



25 

25 

 8 + 6 = 

 4 + 7 = 

 3 + 8 = 

 4 + 8 = 

 5 + 8 = 



26 

26 

 6 + 8 = 

 5 + 3 = 

 7 + 5 = 

 3 + 5 = 

 5 + 7 = 


